Name:

Home Schoo| Partners — IB: Classic Liferafure h
Week 31: Quiz 13 (Weeks 27-29 Readings) i

Sir ___ Baskerville originally established the “Baskerville curse.”
(A) Hugo (B) Charles (C) Henry (D) James (E) Reptitious (F) Rupforpancakes

2. Sir Charles Baskerville dies because heis .
(A) killed by Selden (B) attacked by the hound (C) shot by Laura Lyons (D) frightened by the hound
3. Near the story’s beginning, the Barrymores want to leave Baskerville Hall because they are .
(A) trying to escape capture (B) angry with Stapleton (C) sad at Sir Charles’s death (D) angry
4.  The main reason Doyle opens Hound with Holmes examining Mortimer’s walking stick is to reveal ___.
(A) Mortimer’s oddness (B) Holmes’s skills (C) the Baskerville history (D) Watson’s intelligence
5. The hound kills the escaped convict because itis .
(A) lured by a candle’s light (B) attracted to his scent (C) attacked by the convict (D) none of these
6. Laura Lyons refuses to tell anyone why she missed her late-night appointment because she .
(A) Killed Sir Charles (B) wants to marry Sir Henry  (C) loved Sir Charles (D) is protecting someone
7. The real name of the main villain in The Hound of the Baskervillesis .
(A) Vandeleur (B) Barrymore (C) Selden (D) Mortimer
8.  With whom does the main villain share a strong resemblance?
(A) Sir Henry Baskerville (B) Barrymore (C) his wife (D) Sir Hugo Baskerville (E) a white heron
9. What makes the hound look so ghostly?
(A) its natural coloring (B) moonlight (C) achemical (D) natural, chemically colored moonlight
10. At the story’s conclusion, Sir Henry Baskerville .
(A) goes on a trip to calm his nerves (C) gives up his inheritance and returns to America
(B) marries the villain’s widowed wife (D) stays at Baskerville Hall to continue his uncle’s work
Match the description on the left with the Hound of the Baskervilles character on the right:
11.  anaturalist and the main Hound of the Baskervilles villain A. Sherlock Holmes
12.  someone who inherits roughly £240,000 B. Dr. John Watson
13. the mysterious person whom Watson sees on the moor C. Sir Charles Baskerville
14. someone who sues people and looks through a telescope D. Sir Henry Baskerville
15. a person who throws away an important letter from Laura Lyons E. Dr. James Mortimer
16. someone who is ordered to pretend to be someone else F. Selden
17. a person who obsesses over the skull of Sherlock Holmes G. Jack Stapleton
18. someone who is a suspect because of his black beard H. Beryl Stapleton
19. aperson ordered to not let another character out of his sight I.  Frankland
20. younger sibling of another Hound of the Baskervilles character J.  Barrymore

BONUS (+5): What does Hebrews 2:2-7 say about mankind, in contrast to Sherlock Holmes’s view of mankind?
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A 1. Sir__ Baskerville originally established the “Baskerville curse.”
(A) Hugo (B) Charles (C) Henry (D) James (E) Reptitious (F) Rupforpancakes

D 2. Sir Charles Baskerville dies because heis .
(A) killed by Selden (B) attacked by the hound (C) shot by Laura Lyons (D) frightened by the hound

C 3. Near the story’s beginning, the Barrymores want to leave Baskerville Hall because they are .
(A) trying to escape capture (B) worried about the hound (C) sad at Sir Charles’s death (D) retiring

B 4. The main reason Doyle opens Hound with Holmes examining Mortimer’s walking stick is to reveal .
(A) Mortimer’s oddness (B) Holmes’s skills (C) the Baskerville history (D) Watson’s intelligence

B 5. The hound kills the escaped convict because itis .
(A) lured by a candle’s light (B) attracted to his scent (C) attacked by the convict (D) none of these

D 6. Laura Lyons refuses to tell anyone why she missed her late-night appointment because she .
(A) killed Sir Charles (B) wants to marry Sir Henry (C) loved Sir Charles (D) is protecting someone

A 7. The real name of the main villain in The Hound of the Baskervillesis ___.
(A) Vandeleur (B) Barrymore (C) Selden (D) Mortimer

D 8.  With whom does the main villain share a strong resemblance?
(A) Sir Henry Baskerville (B) Barrymore (C) his wife (D) Sir Hugo Baskerville

C 9. What makes the hound look so ghostly?
(A) its natural coloring (B) moonlight (C) achemical (D) natural, chemically colored moonlight

A 10. At the story’s conclusion, Sir Henry Baskerville .
(A) goes on a trip to calm his nerves (C) gives up his inheritance and returns to America
(B) marries the villain’s widowed wife (D) stays at Baskerville Hall to continue his uncle’s work

Match the description on the left with the Hound of the Baskervilles character on the right:

G 11.  anaturalist and the main Hound of the Baskervilles villain A. Sherlock Holmes

D 12.  someone who inherits roughly £240,000 B. Dr. John Watson

A 13. the mysterious person whom Watson sees on the moor C. Sir Charles Baskerville
| 14. someone who sues people and looks through a telescope D. Sir Henry Baskerville
C 15. a person who throws away an important letter from Laura Lyons E. Dr. James Mortimer

H 16. someone who is ordered to pretend to be someone else F. Selden

E 17. aperson who obsesses over the skull of Sherlock Holmes G. Jack Stapleton

J 18. someone who is a suspect because of his black beard H. Beryl Stapleton

B 19. a person ordered to not let another character out of his sight I.  Frankland

F 20. younger sibling of another Hound of the Baskervilles character J. Barrymore

BONUS (+5): What does Hebrews 2:2-7 say about mankind, in contrast to Sherlock Holmes’s view of mankind?
THAT HE WAS CREATED “A LITTLE LOWER THAN THE ANGELS,” NOT A LITTLE HIGHER THAN THE APES



